H & 0l & AHS B Ml A

2A: EES0
B sApsA
ol NgES 2 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SEES 31,056,801 26,058,479 4,998,322
= 5,569,957
| 1,484,212
& 1,802,587
Al 22,200,045
SHFE2S ALt 5,649,631 5,101,565 548,066
2 44,450
J| 1,440,000
& 119,215
Al 4,045,966
NABS 2tel 62,369 18,420 43,949
& 22,700
Al 39,669
g s 22| 13,369 9,420 3,949
101 2124 d| 7,869 5,920 1,949
M IIZINZ2 2 NS Es 7,869 5,920 1,949
S3Y HAISXAE FRIZAIH 7,869
A== 77,0003 x2ZF +40 6,160
-F=xt=g 38,5003 x2H * 14 1,078
Xt 38,5003 x2H »3Y 231
-= &l 5,000 x2% x40 400
201 B2 AY| 5,500 3,500 2,000
01 A=R2teld| 5,500 3,500 2,000
BEEN EE s 100, 000%20H 2,000
SBANHEBAL U BRUBAL BARE
(BAH, &S S) 3,000
SYE HAISX Y FLUAAH 223 500
FO0Ph= sZus T2 23 9,000 9,000 0
T 2,700
Al 6,300
201 B2 AY| 9,000 9,000 0
= 2,700
Al 6,300
01 AtR2elt] 9,000 9,000 0
OPt= 8B us T 29 9,000
= 2,700
Al 6,300
NGB usHEH K& 40,000 0 40,000
& 20,000
Al 20,000
307 212+01™ 40,000 0 40,000
T 20,000
Al 20,000




FA BEES
M AP sA
ol NHES 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 40,000 0 40,000
NSeZusdE X2 40,000
= 20,000
Al 20,000
A ST o+ M 1,600,000 1,463,722 136,278
Il 1,440,000
= 80,000
Al 80,000
el BN =10 1,600,000 1,463,722 136,278
) 1,440,000
< 80,000
Al 80,000
301 EtE NS 1,600,000 1,463,722 136,278
Jl 1,440,000
== 80,000
Al 80,000
01 AR 2EHSHS(RNEXRTH) 1,600,000 1,463,722 136,278
Aot M= 0 1,600,000
Jl 1,440,000
=S 80,000
Al 80,000
3 T 71,898 287,461 A215,563
INEPL =g 71,898 87,461 15,563
201 el 5,000 6,500 21,500
2 35244l 5,000 6,500 21,500
AEhsed NS FE 2l 3,000
OIZ2dI0I MAXNZEFE 23l 2,000
307 gl2to| & 66,898 80,961 14,0683
02 QItEAAEE X 13,000 13,000 0
NENsLH W= 10,000
MY A E LR 3,000
03 LM EE2SHIEX 47,898 61,961 A 14,063
ANEHtsedgols =29 47,898
-2&H| 2,600
ekl 45,298
04 QIZHHAMAIH 2 £ 6,000 6,000 0
NEDSLHEES 6,000
OisSE 25 527,593 422,945 104,648
FoiorlsSE FHE 24 527,093 422,945 104,148
101 @124H| 16,033 0 16,033
M ORIMZZ2NSE S 16,033 0 16,033
FollOtlS= ALMl 2ol & el 16,033




2A:
X XH -
o e

=aak

© o rin
0z 0¥ 0¥

Shk=iny
2ot
s= 25

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-QI2Y 77,0003 x1H+144 11,088
=s5=g 77,0002 x 136 2,772
-xtg 77,0002 x1H 0 693
=&l 140,0003 173 980
-EE=0Hl 500,000& x1& =12 500
201 Ler23| 34,290 30,450 3,840
01 At2teltl 12,240 9,120 3,120
OrdS= A 28 A3 sS4
8,000%3& 100! 2,400
OldS=E FHE DTBEA AIEZ
70,0003 * 122 840
OtSE M A =23 & &8 3,000
OrdS=, dEfH wet 2" 2525 78 6,000
02 S3=gl 22,050 21,330 720
OdsS= PN 28 +828 13,650
OHdsSE FHE Ae2d 77
700,000 «1CH* 122 8,400
202 04l 3,000 5,400 22,400
01 SLHoIH 3,000 5,400 A2,400
OSSP HME ¥ MEHHDESHETAL & 3,000
206 M=l 15,000 10,000 5,000
01 MZH| 15,000 10,000 5,000
OrdS=ME e 15,000
301 EetE NS 431,270 377,09% 54,175
14 0Bt 2a3 431,270 377,09% 54,175
=oli0tdsS=ME =29 375,550
-FoilOrSE FHE 2SHI
77,5003 x35F 130! 362,625
-FolOrdS= S 2HAHI
3,500 x35E *130& 15,925
-FolOtdEsSE FHE L=t
200,000 +35& 7,000
FolOrdS=S S ZAXNS S 5,720
-FoHOFESEFNE SAXNGHAE2S
10,0002 * 12 +50H = A <42 2,400
-FolOdSEFME EAXS XS 2SI
74,0005 &= K %4 2] 1,480
-FoHOIESE FHE TAXSES sS4l
& =8| 92,0002 x5 &= A *42] 1,840
SOHOIMS ST HIE OtZeIDtHRIS Y Rt
BlE 50,000
-FolOtES ST MIE AMIXIClE] 42,500
-FoOrESS M HE|
30,000& »2500t2| 7,500
405 AHaHE S 27,500 0 27,500




FA BEES
B sRpsA
el Otds= B (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AL =S F=HI 27,500 0 27,500
Fol Ot S=S M SataItdch +
5,500,000%5CH 27,500
FHOYS=E B2 500 500
301 EetE2 N = 500 500
4Bt 2as 500 500
FHlds= 015 500
OIMEE E5(EX) 37,100 400 36,700
= 18,550
= 5,565
Al 12,985
OFZ2IDtEHXIEYE e At (=HIEX) 37,100 400 36,700
= 18,550
= 5,565
Al 12,985
301 EtE N = 37,100 400 36,700
= 18,550
S 5,565
Al 12,985
14 IIEt2 83 37,100 400 36,700
FoHOrMSSPME AISIHFA &AM 37,100
= 18,550
< 5,565
Al 12,985
OrS= TloHoilet 151,400 136,000 15,400
= 5,900
[ 4,950
Al 140,550
OfMSE LISHHEXRA(EX) 10,600 9,000 1,600
< 3,180
Al 7,420
206 M=l 7,800 5,000 2,800
= 2,340
Al 5,460
01 M=4l 7,800 5,000 2,800
FofOrdSS T2 M (O1TIM) X
50,0008 156 It 7,800
s 2,340
Al 5,460
301 2eEN=S 2,800 4,000 1,200
S 840
Al 1,960
14 IIEt2 83 2,800 4,000 1,200




FA BEES
B sRpsA
c?l: OFHESE WIaHoE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Foli0tlS==2 2gt s&= Lloi=2d 2,800
= 840
Al 1,960
Ord4ESS TIoHOIE AR (XEAI) 129,000 127,000 2,000
206 MH=H| 15,000 15,000 0
01 M=4l 15,000 15,000 0
Ot == UoidZM XA
30,0003 *20H*250= Ot 15,000
301 LEIEE S 114,000 112,000 2,000
14 JIEt2 8= 114,000 112,000 2,000
OrdS=E UloHogAlE EX1 N2 2a3
3,000,000& 30 7t 90,000
OtdS=E s&E LEd=
2,000,000& *10= It 20,000
Ords= gLl 2&=3
1,000,000 x4H 4,000
OMMESE TISHHZAIE AIS(SHIEX) 11,800 0 11,800
= 5,900
== 1,770
Al 4,130
301 2= 11,800 0 11,800
= 5,900
= 1,770
Al 4,130
14 0Bt 2a3 11,800 0 11,800
Ot == ULIoHOIZAIZAIS 11,800
= 5,900
= 1,770
Al 4,130
HEfH Wt 4= EIXAY 58,060 99,640 A\41,580
= 20,000
= 6,000
Al 32,060
HEYH et 4= EIXIAY 40,000 73,000 33,000
= 20,000
= 6,000
Al 14,000
101 @124H| 40,000 40,000 0
= 20,000
[ 6,000
Al 14,000
M ORNZZ2NSE S 40,000 40,000 0
HENH et M= EIXIAL 40,000
-Jl=s 77,0003 x4 »80! 24,640




FA SEES
Hu: sADsUY
Chol: MENH DR ME S XA (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 12,320
=S 3,69%6
Al 8,624
=58 77,0003 x4 162 4,928
= 2,464
= 739
Al 1,725
= PNESy 77,0002 x4 H 42 1,232
= 616
= 185
Al 431
-= &l 9,200
= 4,600
= 1,380
Al 3,220
MENHWE ME EIXIAFY (KHHI) 18,060 26,640 8,580
101 e124d| 18,060 26,640 8,580
M ORNZZ2NSE S 18,060 26,640 8,580
EHA LA S ZAF & EIX| QIR (XEH) 18,060
-Jles 77,0002 »2& 882 13,562
=5+g 77,0003 x2E x 183 2,772
“xt=g 77,0002 x2H*4Z 616
=&l 140,000& =2 42 1,120
SSAAL 2 SE AS At 3,141,211 2,672,977 468,234
AlE2e|SH IS A 3,141,211 2,672,977 468,234
308 XXM SOIH 3,003,011 2,647,477 445,534
11 SIS0t 4 A AS A 3,083,011 2,647,477 445,534
SEAAZ S oS ASAE 3,093,011
—MEISE 59,755
-AUHE Y BE+KCIAIE 173,912
-2 XelAlE 176,866
-HEEEaXlAE 2,682,478
403 AXIEHMSAH=0l 48,200 25,500 22,700
02 SISOt = A P EF A I 48,200 25,500 22,700
SEAAE2SH N2 A A 48,200
-~dE =2 12,000
- BEFHlAL 9,700
-HSIIEERXelAlE 26,500
sSHEY 5,080,992 3,881,760 1,199,232
= 2,267,800
Jl 44,212
< 735,234




A 2EES
B =MAE
el JlSEst = (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 2,033,746
JI=Ha = 659,618 845,720 186,102
= 31,800
Jl 7,650
== 5,89
Al 614,273
HIMHREZ AIEE 24a0tA MHALE(EX) 15,300 15,300 0
Jl 7,650
=S 2,295
Al 5,3%
307 @I2to| & 15,300 15,300 0
Jl 7,650
= 2,295
Al 5,355
02 2IZHBYAIHE £ 15,300 15,300 0
HIAHESE AIEE 2&0tA JHALE 15,300
Il 7,650
= 2,295
Al 5,3%
JI2HstUsHEH =2 45,000 45,000
307 gl2tol & 45,000 45,000
05 212t =S 45,000 45,000
J|ZEstuFdE 2| 45,000
SZEE 20tA HIUX SE22lH K (EX) 12,000 11,300 700
[ 3,600
Al 8,400
207 ARl 12,000 11,300 700
= 3,600
Al 8,400
01 A1E%H| 12,000 11,300 700
SSEE 24I1L WX SE2H XE 12,000
= 3,600
Al 8,400
O2l0o| SEHXtel LPGRE M XI@ At (2X) 42,000 56,000 214,000
= 21,000
Al 21,000
402 2I2E X201 & 42,000 56,000 14,000
= 21,000
Al 21,000
02 QI X2 AL EE(OIHTHE) 42,000 56,000 14,000
Ogl0] SStxteel LPGRF Mt X2 A
7,000,000 ~6CH 42,000
= 21,000
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LI NRES
o9l JISHE (R (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 21,000
OIAEX TS AtE & 46,718 678,120 AB31,402
201 et 3| 46,718 658,120 A611,402
01 At22t2l] 46,718 52,760 26,042
SRR HI o]
15,3003 %2, 460CH 37,638
OIMISX M2ZAIY 82 2
50,0003 57 A #22] 500
HSSRA 2HIHA =8 X
42,9003 *200CH 8,580
IHEE M==AY ESME 18,000 30,000 A12,000
= 10,800
Al 7,200
402 QIF X201 & 18,000 30,000 212,000
= 10,800
Al 7,200
02 QI X2 AL E R (0IETHE) 18,000 30,000 212,000
NEE N=A 22 E3Ar (28
100,000 *150CH 15,000
= 9,000
Al 6,000
HEE M=A 22 BESMP(HASE)
600,000 *5CH 3,000
= 1,800
Al 1,200
SEA S3IIZAE 24012 HHEX A 2€ 480,600 480,600
201 er2 3| 460,600 460,600
01 AtR2telHl 20,600 20,600
st=cha BHEXAIY Al 600
2aJtA tHEE SHAM & MIHEM 8S 20,000
2 35244l 440,000 0 440,000
280t WHEANAHH 29
40,0002 %11,000& 440,000
207 ARl 20,000 20,000
01 A1E4H| 20,000 20,000
2a0t4 HiEE BMAA &4 & US 20,000
st sk 22 4,215,350 2,979,200 1,236,150
= 2,166,000
= 720,000
Al 1,329,350
HIINSIHEE) ESAd 1,200,000 1,014,000 186,000
= 500,000
< 300,000
Al 400,000




A 2EES
LR NVIRES
el e NSk 2Es EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 1,200,000 1,014,000 186,000
= 500,000
== 300,000
Al 400,000
02 QI XH2AILEE (01X THE) 1,200,000 1,014,000 186,000
HIINSAH(EE) ESAY
12,000,000 *100CH 1,200,000
= 500,000
== 300,000
Al 400,000
HIIXSAHE2) 2SAtd 2,300,000 1,886,000 414,000
= 1,400,000
== 270,000
Al 630,000
402 2I2E X201 & 2,300,000 1,886,000 414,000
= 1,400,000
S 270,000
Al 630,000
02 RIENEASEZ(0IETHR) 2,300,000 1,886,000 414,000
HIINSIHEE) E2SAMY
23,000,000 *100CH 2,300,000
= 1,400,000
= 270,000
Al 630,000
SII0IEX E=AHS 112,000 79,200 32,800
= 56,000
Al 56,000
402 2I2E X201 & 112,000 79,200 32,800
= 56,000
Al 56,000
02 QI X2 AL EE(0IHTHE) 112,000 79,200 32,800
SII0IEX ES5AS 1,600,000 *70CH 112,000
= 56,000
Al 56,000
SIIHA EgAY 600,000 0 600,000
= 210,000
= 150,000
Al 240,000
402 212t X201 & 600,000 0 600,000
= 210,000
& 150,000
Al 240,000
02 QIZHHE AL E (01X THE) 600,000 0 600,000
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B =MAE
el 23 ISkt 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HIIHA EZAY 200,000, 0002 +3CH 600,000
= 210,000
== 150,000
Al 240,000
zgd Asx 2=2X3 3,350 0 3,350
201 er23 | 3,350 3,350
01 At2teltl 3,350 3,350
SIINSA ESAE 22 s+
,000& %1704 %12 850
EHTY ) EXSN 4D
250,000 * 107 2 2,500
BAHQIEN 2 75,124 23,040 52,084
Jl 36,562
=S 9,339
Al 29,223
BAMOIEN 62,258 23,040 39,218
Jl 31,129
= 9,339
Al 21,790
301 EtE NS 62,258 23,040 39,218
) 31,129
= 9,339
Al 21,790
4 IIEt2 83 62,258 23,040 39,218
BAEQIEN CIMEE XS
31,129,000& »23] 62,258
Jl 31,129
= 9,339
Al 21,790
BAMHOIEN 2 A& 2,000 0 2,000
201 eer23y| 2,000 2,000
01 AtR2t2|HI 2,000 2,000
BHAMOIEN E2= 2,000
ASAt BAEOIENR 10,866 0 10,866
Jl 5,433
Al 5,433
301 2eEN= 10,866 0 10,866
Il 5,433
Al 5,433
14 IIEt2 8= 10,866 0 10,866
K-St EAEQIERH QIHEIE XIg 10,866
Jl 5,433
Al 5,433
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A BEES
B sou2d NEEL
chelr lgze] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIMEX 22 HE 2Al XY (ZAEX) 113,800 161,600 A37,800
= 56,900
== 17,070
Al 39,830
101 e124d| 113,800 151,600 A37,800
= 56,900
=S 17,070
Al 39,830
04 JIZtN2Z2 XS 2 113,800 161,600 A37,800
OIMISX 28 =& ZAIXZ 113,800
= 56,900
= 17,070
Al 39,830
TAS 2o 145,055 99,671 45,384
Tag 242 N 145,055 99,671 45,384
101 e124d| 86,715 93,331 6,616
M ORNZZ2NSE S 86,715 93,331 26,616
TASEAE 2= 2d A o 86,715
-Jl2s 77,0002 x5 160! 61,600
=s5=g 77,0003 x5 »32 12,320
-2 4| 2,695
-2 & 140,0002 x5 +8E 5,600
- EH| 50,0003 x5 «8E 2,000
-SE SOl 500,000 x5 +13] 2,500
201 fer23y| 13,340 6,340 7,000
01 AtR2t2|HI 9,340 2,340 7,000
DASTAY ASUHTALOIAS] &4
=g 130,000 6 x32] 2,340
TASEAE 2= 2d eS8 M 3,000
TASEHEEY ARES 7Y 2,000
TASEMNAEY S X 2,000
02 S3=gHl 4,000 4,000 0
TASEYY 2o HF U2 25 4,000
308 AFAIEHMSOIE 45,000 0 45,000
07 XA EE2 45,000 0 45,000
cASUoH FHXS MEHZAN & SHH L0
A=Y 45,000
AR BHEHA M 4,823,014 0 4,823,014
= 2,464,307
< 627,152
Al 1,731,555
CEARI BIIHX XMS(BSS) 1,600,000 0 1,600,000
= 800,000
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Al 560,000
301 EtE NS 1,600,000 1,600,000
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== 240,000
Al 560,000
14 JIEt2d = 1,600,000 1,600,000
CEASK ZIIHK K
1,600,000& *1,000CH 1,600,000
= 800,000
== 240,000
Al 560,000
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= 1,200,000
== 360,000
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301 22N = 2,400,000 2,400,000
= 1,200,000
= 360,000
Al 840,000
4Bt 2a3 2,400,000 2,400,000
ESHRA ZIIHX K& 2,400,000
= 1,200,000
= 360,000
Al 840,000
ALIIA ZIIHRE KIZARS (XX, 24101) 149,200 149,200
= 74,600
= 22,380
Al 52,220
301 LEtE N = 149,200 149,200
= 74,600
== 22,380
Al 52,220
14 IIEt2 83 149,200 149,200
C2ALIA ZOIHR K2 149,200
= 74,600
[ 22,380
Al 52,220
SR OPF 25 XA 99,000 99,000
= 49,500
Al 49,500
402 2IZtA=01d 99,000 99,000
= 49,500
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528,000
316,800
211,200

528,000
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316,800
211,200

528,000

FJI-[I

16,500, 0002 +32CH

H

=
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316,800
211,200
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Mho
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hoH

=
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30,000
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o
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15,000
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o

1,814
907
272

1,814
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